iPass 2%y’

START OK  Not Completed BACKING OKW  Not Completed

1. __ Unable to: A_Locate/B_Adjust/C_Operate safety devices Turnabout:

2. _ [ A_Fails to observe/B_Uses mirror only 1. O A_Failsto signal/B_lmproper signal

3.__ U A _Failsto signal/B_lmproper signal 2. QA A_Controll/B_Steering method/C_Observation/D_Veh. position

4. 1 [ Incorrect use of: A_Clutch/B_Brake/C_Accelerator/D_Gears 3.__ 1 [ iIncorrect use of: A_Clutch/B_Brake/C_Gears/D_Steering

DRIVING ALONG OK  Not Completed

1.0 0 U A_Follows too closely/B_Passes too closely/C_Cuts in too soon

2.1 O 0 1 A_Improper choice of lane/B_Straddles lane/C_Unmarked roadway

3.1 O 0 1A _Fails to check blindspot/B_Observe properly

4.1 0 U Lane change signal: A_Wrong/B_Early/C_Late/D_Not Given/E_Not cancelled

5. [ 0 [ Right-of-way observance: A_Ped./B_Self/C_Other vehicles

6.1 (1 0 [ Fails to use caution or obey: A_Ped. cross-overs/B_School crossing/C_Emerg. veh.

7. 1 1 [ Speed: A_Too fast/B_Slow for condition/C_lmpedes traffic

8.1 [ 0 Uincorrect use of: A_Clutch/B_Brake/C_Accelerator/D_Gears/E_Steering/F_Safety devices

INTERSECTIONS/ R.R. CROSSING OK  Not Completed

1.1 [ U Fails to observe properly: A_Controlled/B_Uncontrolled intersections

2.1 O QO U Fails to obey: A_Signs/B_Signals/C_Pavement markings

3._ 1 O O U Latein: A_Slowing/B_Stopping/C_Slows too soon

4.1 O 0 [ stopping position: A_Too soon/B_Blocks crosswalk/C_Blocks intersection

5. (0[] Right-of-way observance: A_Ped./B_Self/C_Other vehicles

LEFTTURNS LEFT-OKW  Not Completed 4 RIGHT TURNS RIGHT - OKd  Not Completed U
Signalling:

1.1 U A Wrong/B_Early/C_Late/D_Not Given/E_Notcancelled 1.1 (A U1 1

Failed to get into proper:
2. 0 A Position/B_Lane/C_Late into lane/D_Late into positon 2. 1 1 1 (1

Right-of-way observance:
3. 1 O [ O A Ped/B_Self/lC_Position/D Othervehicles ... 3. 1 1 1 O

Too Wide:

4, Q1 0 A_Turns too wide/B_Enters wrong lane ............ 4. 1 4 4 Q4
Too Short:

5. 0 [ A_Cuts corner/B_Enters wrong lane ................. 5.4 4 0 4
Steering:

6. 1 1 0 A_Method/B_Control/C_Recovery ................... 6. 1 1 Q4

Speed:A_Too fast/B_Fast-enter/C_Fast-leave/
7. 1 1 D _Too slow/E_Slow-enter/F_Slow-leave/G_Impedes 7. _ 111 1

Incorrect use of:
8. 1 1 [ 1 A Clutch/B_Brake/C_Accelerator/D_Gears ..... . 1 1 1 Q4

PARKING OKW  Not Completed STOP, PARK AND START ON A GRADE  OK Not Completed
Fails to observe: Fails to observe:

1. [ A Backing/B_Leaving/C_Mirror only backing/D_Mirror only leaving 1. __1__ (1 A_Properly/B_Uses mirror only/C_Signals before leaving

2. [ _ [ Hits: A_Objects/B_Other vehicles/C_Climbs curb 2. [ A_Rolls back when parking/B_Starting

3. A_Incorrect vehicle position 3._ (A Failsto angle wheels properly/B_Incorrect vehicle position

4. __[ A_Fails to signal when leaving/B_Incorrect signal 4. 1 [ A Fails to set parking brake/B_Select proper gear
Incorrect use of: Incorrect use of:

5. __1 [ A_Clutch/B_Brake/C_Accelerator/D_Gears/E_Steering 5. 1 [ A_Clutch/B_Brake/C_Accelerator/D_Gears/E_Steering

Comments:

Student’s name

Student’s signature Date] Mock exam mark| Instructor’s signature




